





Albion Engineering Company
1250 N. Church Street
Moorestown, New Jersey 08057
Phone: 856-235-6688 Fax: 856-235-9460
www.albioneng.com

AT1200S & AT1200S-2 Operating Instructions

Safety

e 150 psi maximum operating pressure.

e Do not drop or let anything drop on the applicator.

e Do not damage or polish the piston rods.

e Store in a clean dry environment.

e Eye protection must be worn at all times when the applicator is in operation.

e Do not point the applicator at anyone while the tool is in operation.

e Do not place any part of your body either inside or in front of the material chambers while the applicator is

connected to an air supply.

e Read the material safety data sheets (MSDS) on the material being used.

Cleaning

Keeping the applicator clean is important for long life and trouble free operation. Due to the tool's rugged construction,
most solvents can be used to remove material. It is not recommended to immerse the tool in a cleaning agent, as this may
adversely affect the internal seals of the applicator. Special care should be taken to ensure no material residue is left on
the piston rods.

General dispensing instructions

Note: It is highly recommended that you advance and retract the pistons in an empty applicator until you are comfortable
with its operation.

The dispensing rate of the applicator is determined by the air pressure used. It is advised to begin at the lowest pressure
setting and adjust the pressure to your desired speed.

| |
To load twin sausage packs into the chamber: AT1200S AR
1. Retracting the piston rods: i ribeems || '. | | il

a. AT1200S model: Retract piston rods by switching the Button | S

forward/reverse button and then actuate the trigger to allow the
piston rods to travel back into the barrel.

b. AT1200S-2 model: Retract piston rods by manually retracting
the lever on the external rod to allow the piston rods to travel
back into the barrel.

Rotate the swivel carriage out of the way so the aluminum manifold

can be removed from the twin chambers.

Remove front retainer from sausages and insert sausages into the = W\

barrel with their opening facing towards the outside of the

chambers. Note: ensure that the same sausage material is inserted  |AT41200S-2

into the same chamber every time to prevent a clogged system.

Insert aluminum manifold into the chambers until the flat portion of Manually Retract

the manifold butts up to the barrel ends. Note: ensure that the Lever Rearwards

manifold is inserted into the same chamber every time to prevent a

clogged system.

Rotate swivel carriage over manifold so that its face sits evenly with

the manifold face. Note: when dispensing, the chamber section of

the manifold should not have a gap of more than 1/16” past the face
of the barrel, as material leakage may result. The chambers can be
adjusted by rotating them until the correct distance is achieved.

To dispense twin sausage packs:

1.
2.

Insert a static mixer onto the manifold. The manifold accepts standard 3/4NPS and NPT type threads.

With the regulator at low pressure, switch the forward/reverse button to the forward position (on the AT1200S
model) and then actuate the trigger to allow the rods to travel forward to ensure the sausages are dispensing
properly. Do not apply adhesive to the work area until the proper mixture is exiting the static mixer.

Lower the applicator to the desired work area and actuate the trigger and increase the air pressure while
dispensing material until the desired dispensing rate is achieved.

While dispensing, note that the indicator rod is also advancing. When the sausages are empty, release the trigger
to exhaust the air pressure within the tool.

Remove the empty sausages from the chambers by rotating the swivel carriage and removing the manifold.
Actuate the trigger to remove the empty sausages.



640t tFaHs L 666 8¥5SA  nNowo - TELBHON

N2y ON TOMa HSIN S "0 ONIMIINIONI NOIFTY
. P S00¢ :< , 54 *N O —— 30 NOISSINA3d NILIMM 3HL LNOHLIM
LSO80 [N "UMOISIIOOIA  .uoumos ONISNEISG FJOVSNVS NIML Y 'NND po L 90 0345 WRALVIN £y nOIYY  FTOHM Y SV 3O 13Vd NI NOLDNAO¥A3Y
2 AT . ANV "OD ONREINIONI NOIFTY
lim Nmvag 40 AL¥TA0¥d 3108 3HL S ONIMYAG
‘ m . EU Z OWNH =°~Q 1 72 G 1:IIVOS «S00F' 030 OEFONY p9/1F Dvad WrE o SIHL NI G3NIVINOD NOILYWIOIN! 3H:
0D mEEOOEHWEm uoiqvy . Q3HID34S ISMIFHIO SSTINA
: : : YV s SIONVEIIOL TYNOISNIIA L/zz/e ava ToRaLYW TIVINIQHNOS ONV AUVIIIH4OUd

¢ 133HS 33§

¥
uv)

O
ol %

Z 133HS mmmy ¢ 1335 33
\ﬂl
- —1(® m M T [}

« - g

T
\
"ANVY 4399Ny HIIM
13434V ANNOYY 133HS NOILDNALSNI L7 1-10S(1) 339ND3s -
'S 13FHS NO NMOHS SV 3dIS O1 LDINNODSIA MDINO NINL*
"A31GWISSY NIHM
11Nd ANV d3HLO HOV3I HLUM N3AT 39 QTINOHS SONIDV
'SY3IV ISIHL NI ISVYINO 3SN
'SYIIV ISIHL NI 3LIDOT3INTIg IS
AN 1348V4 ANV Q104INVW JHL NIIMITF VO ,91/1 V
s 9 310N agv U e NVHL IJOW ON 38 QINOHS J3IHL aIT1gWISSY NIHM "1

Q3A0dddY 3iva NOILINDS3a N3y ND m._.oz
SNOISIAZY

N < w0



X

D

E 4

ci/ier/e CL-LE# L3Vd 343IM LY 'R LT SW3Y 'Or W3L QQV

9EEIND

GIAOUAdY 3iva NOU4IIDSEA

'A3d

ND

SNOISIAZY

$407Z133HS | T 656 . 8rssa jmowo| Q33HON
A3y on “oma SO0ZLLY L HSING $I"OD ONISIINIONI NOISTY
. ; ; it ST 4O NOISSIWaAd NILUIM THL JNOHLIM
LS080 "IN hQBOHmDHOOE SNOLLATOS SMISNIESI JOVSNVS NIML IV 'NNO N\W\N\\ ande¥ 23d5 VIBIYW v5 NOYY | TIOHM Y SW 3C Rivd NENOUONAOS3Y
. . ANY "0 DNRIINIONI NOIGIY
1S goany) "N YAl =°~Q Y v TS = WPd  nmvag 4O AL¥3JONd 3108 IHL S| ONIMVAC
. . L «SO0FD3Q OEFONY L99/1F Dvay SIHL NI GINIVINOD NOLYWEOIN] I,
0D WQEDDQHWQM uoIqry o / Q3IHIDILS ISIMEIHIO SS3INN "
: : : V s SIDONVAIIOL TYNOISNIWIG L/ze/e | ava i IVINIGHNCD ANV ANVL314OYd
LN DN
N
/ 2
) \

N
W

\\\‘&“ _M”




40O € 133H — o yeSg mnowo "‘Q3LUGIHOAd
¢ S ors6 on oma S00Z11Y Bvss ) Hsini3 $1°0D ONIINIONI NOIETY
. Y , ; — 30 NOISSIWTd NILUEM FHL LNOHLM
N\mowo —..Z ‘ EBOHWQHOOE SNOLLITIOS ONISNIISIO JOVSNVS NIML 8V 'NND \«\V\%KQ.Z% D34S TVRIILYW (v NOIETY FIOHM v SV 80 wmxi M/: M_O_WU:QOmM,m_m
R . r ANY 0D ONRIINIONI NOIgTY
IS gaany) "N 0SCI ¥ °~ 2 Wrg  ~Nmvaa 40 AL¥3dO¥d T10S FHL ST ONIMYAG

® o 'Y e S:IIVYDS ZS00F'D3Q LEFONY .p9/1T Dvdd

QDS ISIMBHIO SSTINA
V s SIONVAZIOL TYNOISNIWIG L1/2z/e  awa VLW TYIINIQHNOD ANV ANVIIHdONd

SIHL NI QANIYINO D NOLLYWOANI JHL

‘00 SunsuIduyg uoIqy

d3ACHEIY 31vQ NOLINOS3T ‘A3 NO
SNOISIAZ



$40%.33Hs | €

‘AJd

656

'ON "OMma

8¥ssa

NIDRIO

HSINIZ

‘CIUEHON¥S

- S00CiLlY N 40 zo_m%&mmw wwmw_mh%ﬁﬁq%“wﬂ
LEO80 '[N UMOISAIOOIN  .onmos onsmassia JOVSNAVS NIML AV 'NND \\M.\ 7| D34S VLYW £77 NOIIY Eo:;&%%@%% mwmm__%wﬂw%w
.um QOHDQU Z OmNﬁ :QNQ -L BB ) < e W  |nmvag .m_ob_wmn_oma_ mﬂommxf@_o»;\,ﬁ_o
0D Sur Howﬁawﬁm uoIq[y ® H [/ Ol 3IvVOS | - wooom&wom&m.owm @mm&%%ﬁ w<~¢ A HL N GINIYINO D NOWYWIOINI 3H;
) : : YV o o S3ONVATIOL TYNOISNINIG [L/ge/e | sva szt TVLINIQINOD AN ANYIIINAONd
[4 INN WVT ¥Z-8/¢ GE-/€ ve
l JANIVIFY AOY y-C59 £e
| 1NN ¢€-01 v-/€ 43
| JOJA JOLVOIIAN] €-CL9 L€
[4 JOd NOILSId 65-99¢ 0¢
[4 JIHSVM JAVINCD 0l1-€/8 6C
9 ONPDOVd 9-€/8 8¢
[4 INN DOTAN 81-91/6 ey-LE /T
| ATIWISSY ITANVH [-186 9C
[4 39N1 NOINN G-/G6 T4
14 INN ¥W ey-[E Ve
l FIANVH 3ISVOLNS (9-8/6 14
14 MIJOS AVAH IV YW £01-01 [44
[4 JFHSVYM FZNCOJG L1-C1S 14
[4 MIADS AVIH XIH ¥Z-91/G /6701 04
[4 ONIYVY3d [OAld 8l-C1§ 61
[4 dV1S 3diS C-CL6 31
l 139V 8£5-00S L1
! ALV1d INOYS ¥-909 21
[4 JIHSVM Ol L-6€ Gl
4 MIFOS AVIH X3H 8Z-¥/ 1 £G-01 14!
L MIADS AVIH IVH ¥Z2-01 £/701 el
[4 ONIIDON G-¢ 4
[4 13ddvd JASIANS !
! ATO4INYW G0O-GY9 0l
[ QOJ JOLVIIANI 1Nd £-CL6 6
14 MIJDS AVIH X3H ¢e-01 €401 8
[4 dvD ADvd 8¢-C /
[4 dno-N L-¥ES 9
1 MIADS AVIH 13ADOS 0Z-1/1 8601 S
L d1V1d 3Ov4 L-CL6 14
ci/te/e 9v-£elz) QAV 2 Zi-££(r) 31313Q "Z1-£8 SYM £2 W3Ll € 9ELIND _. MOH(UOn_ QOM W;NNQ mu
T R o ko SR e IR T ~ 3955 G0 P >
TH/s/L 8-7/1 SYM £&°01 304 "D3dS AVIIHL { L6ZIND
TIAO¥LLY 31va NCILdIOs3a A3y N3 — >n_m<<m_mm< m\/_MQ an,m,a —
SNOSIAZ ALD NOILdIdD53d # 1dVd # W3l




$406133Hs | & 6756 ox oma 87550 | - o 4 ‘GO
00! LY Y S E— 4O NI ML L 1Ot
LS080 '[N nﬁaoumOHOOE SNOLLTIOS ONISNSSIG FOVSNVS NIML IV 'NND | AneeY D345 TYRELYW vk nOIETY | TIOHM V SV 30 LV d NENOILONGONGIY
. . ANV “OD ONISFINIONI NOETY
1S gaImy) "N 0S¢l =°~Q%N o m————eri LA I NS 30 AL¥IIONd TIOS FHL §I ONIMYAQ
o3 1. N "F 0e+ W F OV f 1 h b
‘0) MEEOOEHMGMH uoqry o FIVOS QIHID3HS ISIMEIHLO SSTIND , SN GENIFINGS NOUROaN 311
) ) ) V s SIONVATIOL TWNOISNIWIG LL/ce/e| arva 1IN TVINIGHNOD ANV A¥VIINIONd
l XO4d NIVW GG-/G€ [44
I INNWYT 81-91/G v-LE [y
I JIHSVY M [11-6€ oy
l 134V1 XO4d 615-006 6%
l D0OIVIVD S/ 8¢
4 SNOILDNYLSNI ¥ 1-108 FAS)
e1/1z/8 B vi-sselt) wmw._mmﬁmmkmmwm%,Hovn?mbm.ﬁmwmm.m<>> or way ¢ | seenD i YINIVIIY T8/ 6 9¢
i/l tyi-105{zt aav - 6zi-1051} 313130 1 L8ZIND
Q3A0¥GLY 3iva NOHdIEDS$3a ‘A3 NO “, >>m M U m m_ >:.m < U N _ _ :O _ mmu
SNOISIAZY ALD NOILdIyDO53d # 13Vd # WAl




NOTE:

1. WHEN ASSEMBLED THERE SHOULD BE NO MORE THAN
A 1/16" GAP BETWEEN THE MANIFOLD AND BARREL END.

0 NOOMNWN

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
ALBION ENGINEERING CO. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
ALBION ENGINEERING CO. IS
PROHIBITED.

. USE BLUE LOCKTITE IN THESE AREAS.
. USE GREASE IN THESE AREAS.

. HANDLE SHOULD NOT TURN, USE GLUE IF NECESSARY.
SHIPPING. PLACE SCREW BACK IN DESIGNATED HOLE.

REVISIONS

COMPONENT DRAWINGS

CN REV. DESCRIPTION DATE APPROVED
DS548 1 PRODUCTION RELEASE 3/21/11
CN1297 2 ADD NOTE 8 171413
. PACKINGS SHOULD BE EVEN WITH EACH OTHER AND PULL WHEN ASSEMBLED.
. TURN QUICK DISCONNECT TO SIDE AS SHOWN ON SHEET 5.
. DISSASEMBLE BACK SCREW OF TOP HANDLE AND POSITION FORWARD FOR
SEE SHEET 2
. SECURE (1)501-141 INSTRUCTION SHEET AROUND BARREL WITH RUBBER BAND.
U '
K ©)
SEE SHEET 2 NOTE 7
SEE SHEET 2
NOTE 1
[ b | . U
He | ) o
BT |-
—Lum
MATERIAL patE | 3/21/11 DIMENSIONAL TOLERANCES S A . . .
FRAg,.\ltLlE /SéfAPT:ERGV.W:%O‘SPE%@.EEOOS . SCALE:1:5 . ® AlblOﬂ Englneerlng CO‘
orsm - BIM )] 1250 N. Church St.
ALBION 447 MATERIAL SPEC. APPVD GUN, AIR, TWIN SAUSAGE permsnesowmes - Moorestown, NJ. 08057
FINISH AT] 2003_2 REV.
SEE INDIVIDUAL oRGN | DS548 DWG. NO. 954-21 5 SHEET1OF5



Qo Do

REVISIONS

CN REV. DESCRIPTION DATE APPROVED
CN1336 ADD ITEM 49 - ITEMS 35 & 50 WERE PART #37-12 8/20/13
/ Y X X x X X
X Y X Y X~ X b4 X/

< >
\\( >
PROPRIETARY AND CONFIDENTIAL MATERIAL oate |3/21/11 DIMENSIONAL TOLERANCES s A ] ] )
UNLESS OTHERWISE SPECIFIED

THE INFORMATION CONTAINED IN THIS o FRAC. 1764 ANG. £30' DEC.£.005" | SCALE:1:2 % 'biono lAzllgz)OrIiIEg%llneel{léltg Co.
DRAWING IS THE SOLE PROPERTY OF DRAWN . urc .
SEE:QOONDE%CT;IISEE\E’:’CZIS%RAA'?A WHOLE | ALBION 447 MATERIAL SPEC. : GUN, AIR, TWIN SAUSAGE brseensive sorumons Moorestown. NJ. 08057
WITHOUT THE WRITTEN PERMISSIONOF | === APPVD ! Ail'] 20052 ’ :
ALBION ENGINEERING CO. IS FINISH - DWG. NO. REV.
PROHBTED. | T ORIGIN | DS548

954-21

SHEET2 OF 5




REVISIONS
CN REV. DESCRIPTION DATE APPROVED

PROPRIETARY AND CONFIDENTIAL MATERIAL one 3/21/11 DIMENSIONAL TOLERANCES i A ) ) )

UNLESS OTHERWISE SPECIFIED
THE INFORMATION CONTAINED IN THIS S FRAC. 1764 ANG. £30° DEC.2.005" | SCALE:1:6 ﬁbj‘)ﬂo lAzllgaOrIiIEg%llneel’fléltg Co.
DRAWING IS THE SOLE PROPERTY OF DRAWN . urc .
SELS:Q%NDE%%ISEEmﬁé%R%YA WHOLE | ALBION 447 MATERIAL SPEC. : GUN, AIR, TWIN SAUSAGE brseensive sorumons Moorestown. NJ. 08057
WITHOUT THE WRITTEN PERMISSIONOF | === APPVD ! A:I'] 2005-2 > :
ALBION ENGINEERING CO. IS FINISH B WG, NO. REV.
PROHIBITED. T oriGIN | DS548 954-21 _  SHEET3OF5



ITEM # PART # DSECRIPTION QTY
1 955-6 DRIVE ASSEMBLY 1
2 972-7 REAR BRACKET 1
3 972-11 GASKET 1
4 690-5 HOSE CLAMP 1
5 138-22 1/8NPT PLUG 1
6 10-103 M4 FLAT HEAD SCREW 4
7 37-43 M4 NUT 4
8 957-5 UNION TUBE 1
9 978-9 HOSE ADAPTER 1
10 994-5 TUBE 1
11 972-10 PLASTIC HANDLE 1
12 972-9 ALUMINUM HANDLE 1
13 972-8 FRONT BRACKET 1
14 10-118 1/4-28 FLAT HEAD SCREW 1
15 645-G05 MANIFOLD 1
16 237-37 BARREL 2
17 3-5 LOCKRING 2
18 10-77 10-24 FLAT HEAD SCREW 1
19 972-3 PULL, INDICATOR ROD 1
20 2-28 BACK CAP 2
21 10-98 1/4-20 SOCKET HEAD SCREW 4
22 972-1 BACK PLATE 1
23 10-73 10-32 HEX HEAD SCREW 4
24 534-1 U-CUP 2
25 972-5 ROD LOCATOR 1
26 972-4 ROD GASKET 1
27 10-57 1/4-28 HEX HEAD SCREW 2
28 39-110 WASHER 2
29 606-4 FRONT PLATE 1
30 972-2 SIDE STRAP 2
31 512-17 BRONZE WASHER 2
32 512-18 PIVOT BEARING 2
33 10-97 5/16-24 HEX HEAD SCREW 2
34 500-597 LABEL 1

REVISIONS

CN REV.

DESCRIPTION

DATE APPROVED

CN1291 1

THRED SPEC. FOR 10-97 WAS 1/4-28

7/18/12

CN1310 2

THREAD SPEC. FOR 10-97 WAS 5/16-18
THIS CORRECTION WAS A TYPO NOT AN UPDATE TO PART

2/6/13

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
ALBION ENGINEERING CO. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
ALBION ENGINEERING CO. IS
PROHIBITED.

MATERIAL DATE

3/21/11

DRAWN

BIM

DIMENSIONAL TOLERANCES
UNLESS OTHERWISE SPECIFIED
FRAC.+1/64" ANG.+30' DEC.+.005"

SIZE A

SCALE:1:10

o . Albion Engineering Co.

ALBION 447 MATERIAL SPEC.

APPV'D

FINISH

ORIGIN

DS548

GUN, AIR, TWIN SAUSAGE
AT1200S-2

waibion

1250 N. Church St.

DISPENSING SOLUTIONS MOOreStOWn, NJ . 08057

DWG. NO.

954-21 2

REV.

SHEET 4 OF 5




ITEM # PART # DESCRIPTION QTY
35 37-46 5/16-18 NYLOC NUT 2
36 873-6 PACKING 6
37 873-10 CONCAVE WASHER 2
38 366-59 PISTON ROD 2
39 672-3 INDICATOR ROD 1
40 37-4 10-32 NUT 1
41 10-112 CAPTIVE SCREW 1
42 37-35 3/8-24 JAM NUT 2
43 652-4 ROD RETAINER 1
44 978-23 RETAINER 1
45 981-1 HANDLE ASSEMBLY 1
46 501-141 INSTRUCTIONS 2
47 745 CATALOG 1
48 500-519 BOX LABEL 1
49 39-111 WASHER 2
50 37-42 5/16-18 JAM NUT 2
51 357-55 MAIN BOX 1

DELETE (4)37-12, (1)357-14 &((21))335517-1115 - ADD (2)37-42, (2)37-46 &

REVISIONS
CN REV. DESCRIPTION DATE APPROVED
CcNI1297 | 1 DELETE (1)500-129 - ADD (2)500-141 114113
ITEM 35 WAS 37-12, ITEM 49 WAS 357-14, ITEM 50 WAS 357-15
CNI1336 | 2 8/20/13

MATERIAL

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
ALBION ENGINEERING CO. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
ALBION ENGINEERING CO. IS
PROHIBITED.

DIMENSIONAL TOLERANCES
UNLESS OTHERWISE SPECIFIED
FRAC.+1/64" ANG.+30' DEC.+.005"

SIZE A

SCALE:1:5

DATE | 3/21/11
DRAWN|  BJM
ALBION 447 MATERIAL SPEC.
_____ APPV'D
FINSH oron| DS548

GUN, AIR, TWIN SAUSAGE

AT1200S-2

waibion

e __ Albion Engineering Co.

1250 N. Church St.

DISPENSING SOLUTIONS Moorestown, NJ . 08057

DWG. NO.

954-21

REV.

1

SHEET 5 OF 5




	501-141
	AT1200S-2 drawing.pdf
	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3
	Drawing View4
	Drawing View5

	Sheet3
	Drawing View6

	Sheet4
	Drawing View7

	Sheet5
	Drawing View8



